362-368-NSK 2012.9.7 2:58 PM #[0] 21362 =43 $ el @
Series NSK

Swing Clamp Cylinder

Bore Size(mm) : @12, @16 @20, @25, @32, @40, @50, @63

@ POSSIBLE TO INSTALL AUTO SWITCH IN A TUBE
® MAXIMUM OPERTING PRESSURE : 1MPA

® COMPACT SIZE

@ BUILT-IN COIL SCRAPPER (40~ 63)

N(DSKB20 20RP W8
7

55 B3 IbE @

[1] Swing Clamp Cylinder [6] Rotation Direction (9] Number of Auto Switches
R : Rotating in right hand direction Blank : 2 pcs
Magnet L : Rotating in left hand direction S:1pc
Blank : None % Rotary direction for unclamping (during backward) NN pcs
D : Built in Magnet
Mount Rotating Plate (ARM)
B : Through hole/Both ends tapped common Blank : None
(Standard type) P : With rotation plate
G- Head side flange type % Rotating plate is delivered without assembly
Bore Size Stroke (mm) Auto Switch
12: @12 - 10:10mm, 20 : 20mm Blank : None (Magnetic equipped cylinder)
16: 216 — 10:10mm, 20 : 20mm Contact point existing auto switch from below
20: @20 —  10:10mm, 20 : 20mm W4 : W4(P) (Contact point existed)
25:925 - 10:10mm, 20 : 20mm WB8H : Extremely small auto switch Horizontal (Vertical) type, 2 wire type
32:232 - 10:10mm, 20 : 20mm
40 : @340 - 10:10mm, 20 : 20mm Contact point non existing auto switch from below
50: @50 - 20:20mm, 50 : 50mm WOH(V) : Extremely small auto switch Horiontal (Vertical) type,
63: @63 —  20:20mm, 50 : 50mm 2 wire type
WIH(VIN : Extremely small auto switch horizontal (Vertical) type,
3 wire type
W2P(L) : Contact point non existing (Available for over @40)
W20H : Extremely small auto switch Horiontal type, (2 color)

2 wire type



Swing Clamp Cylinder NSK Series

Specifications

Type (Tube Internal diameter)
012 [ o016 [ o020 [ o025 | 032 | o040 | o050 [ o063
Applied Fluid Compressed Air
Rod O.D (mm) 06 | 08 012 016 020
Rotation Section (mm) 7.5 9.5 15 19
Straight Section (mm) 10,20 20,50
Stroke Tolerance 0~ +1.4mm
Rotation Angle &Tolerance 90-1-10°
Proof pressure 15Kgflem’
Max. Operating Pressure 9.9 Kgffem'
Min. Operating Pressure 1.0 Kgffem'
Operatinh Method Double Acting (Standar type)
Piston Utilizing Speed 50~200mm/sec.
Cushion | Rod side Rubber (Rod End)
Equipped | Head Side | Rubber (Head End) | None
Ambient Temperature -5-60°C
Lubrication No necessary (Non-Lube)
Pipe Contactiog Hole M5X0.8 | Rc(PT)1/8 | Rc(PT)1/4
Applied Auto Switch W8*, W9*, W4*(Over @32), W2P (Over J40)
Attaching Method Bolt Penetration of Rod&Head side Cylinder Tube or Tap Attached and flange Attached

Theroretical Output Sheet (Unit:kgf) -
Bore Size[Ro¢ (M) operaion |0, [ Applied Pressure (kgfcm') - -
(mmy__| "' Directon A 2 3 4 5 6 7 8 9 10
12 6 CLAMP 0.8 1.6 2.4 32 4 4.8 5.6 6.4 12 8
U[\ICLAMP 1al 2.2 3.3 4.4 5.5 6.6 7.7 8.8 9.9 11
1 s |CuwP | 15 3 45 6 75 9 105 | 12 | 1355 | 15
UNCLAMP| 2 4 6 8 10 12 14 16 18 20
2 cuwp | 2 | 4 | 6 | 8 | 10 | 12 | 14 | 16 | 18 | 20
12 UNCLAMP| 3 6 9 12 15 18 21 24 27 30
25 CLAMP 3.7 74 11.1 14.8 18.5 22.2 25.9 29.6 333 37
UNCLAMP 4.9 9.8 14.7 19.6 245 29.4 34.3 39.2 44.1 49
2 cuwP | 6 12 18 | 24 30 36 | 42 48 54 60
16 UNCUWPR| 8 16 24 32 40 48 56 64 72 80
20 cuwp | 105 | 21 [ a15 | 42 [ 525 | 63 | 735 | 84 | eas | 105
UNCLAMP  12.5 25 37.5 50 62.5 75 87.5 100 112.5 125
o CLAMP | 164 | 328 | 492 | 656 | 82 | 984 | 114.8 | 131.2 | 147.6 | 164
20 UI:ICU\MP 19.6 39.2 58.8 78.4 98 117.6 | 137.2 | 156.8 | 176.4 196
o3 cuwiP | 28 56 84 | 112 | 140 [ 168 | 196 | 204 | 260 | 280
UNCUWP| 311 | 622 | 933 [ 1244 | 1555 | 1866 | 217.7 | 248:8 | 2799 | 311

Note) Theoretial output = Pressure X Water pressure area(WPA)

Weight Sheet

1. CYLINDER (Unitkg) ~ 2-MOUNTINGS (Unitkg)
STROKE Bore Size (mm) 1)SV1ING PLATE- 2) FLiN'GE __ _
Item No. Weight Item No. | Weight I@nA No. V\7.ei|ght
(mm) 12 16 20 25 32 40 50 63 f———
KP-012 0.01 QF-012 | 0.045 QF-016 0.05
10 0.07 | 041 026 | 032 | 05 | 055 - - KP-016 0.03 QF-020 0.14 QF-040 0.24
KP-020 0.05 QF-025 0.17 QF-050 0.41
20 009 | 012 | 029 | 035 | 054 0.6 1.1 1.44
KP-032 0.14 QF-032. 0.19 QF-063 0.59
50 - - - - 13 | 17 KP-050 | 0.19

379
www. TPCpage.co.kr




362-368-NSK 2012.9.7 2:58 PM #[o] 21364 =413 $ easEl [

Series NSK
Bending Moment

CLAMPINGZ (kgf)

20 X=3.5cm CLAMPINGE (kgf)
60
X=4.5cm
g 55
[\
a
X=4cm © 50
'a"' X=5cm
15 S 45
Q
Limit Applied = X=5.5cm
2 40 : :
X=5cm <] Limjt Applig
g 35 X=6.5cm
5
10 < X=6em 5 30 X=8cm
Q
Y
X=8cm 3 % X=10cm
[
b 20
X=10cm @ X=13cm
5 g 15
10
5
\ \ 4
1 2 3 4 5 6 7 8 9 99
1234567 89 99
Pressure Applied (kgf/cm?) Pressure Applied (kgf/cm?)
(220, 25) (232, 40)

X
CLAMPINGE (k) f '
165 X=6.5cm o i ||H
(%]
150 3 :
@ g |
b
135 X=7cm S —1_,
120 'g
X=8cm 3
Limit Applied @
105 o
X=9.5cm @
90 ) _
X=f5cm & Graph Reading Method
75 2
X=14cm g In case designated clamp strength is 10kgf,
60 %
45 X=19cm g M @20, 25 type cases :
5] Possible to use with over 5kgf/cm? pressure applied and less

30 than 6cm for maximum distance (x) from cylinder center to
clamping installing jig center.

15
@ @32, 40 type cases :
1 2 3 45 6 7 8 9 99 Possible to use with over 1.5kgf/cm? pressure applied and
Pressure Applied (kgf/cm?) less than 13cm for maximum distance (x) from cylinder

center to clamping installing jig center.

(250, 63)

364




362-368-NSK 2012.9.7 2:58 PM d|°]x]365 3+ZFglsat $

LEEEE e M K]

Series NSK

Allowable Moment of Inertia ACP

Allowable Movement of Inertia (kg/m?)

v

-2
10

-3
10

Allowable Movement of Inertia (kg/m?)

-4

0 50 100 150 200 10 50 100 150 200
Maximum Piston Speed (mm/s) Maximum Piston Speed (mm/s)
(220, 25) (232, 40)
-2 R
10 i % i
Fong T — Swing Plate : It
g Swing Plate Weight : m1
=
8
£ —
£ L
5 :
=T T C ]
g ! @D
& B3
% Clamp Jig : Weight : m2
= . R*+P? R 2
] mi e +mie[ D —
2 It 5 mie[ 5 J1]
2
Toime e D +mee X2
8
SWING PLATE : T++CLAMP JIG : 1= I (TOTAL Moment of Inetia)
o Graph Reading Method
50 100 150 200
inertia i 4y o M2
Maximum Piston Speed (mm/s) In cgse total .moment of !nertla is calculated to 2x10™*kg * m?,
maximum cylinder speed is,
(250, 63)

@ Less than 90mm/s for NSK*20 and 25 type,

@ Less than 190mm/s for NSK*32 and 40 type,

@ Available to use within all range regardless of maximum
piston speed (200m/s) for NSK*50 and 63 types.

APM

AS

AX

AM2

AM

AL
ALX

Ao

ABto

AJ
AM

ABK

ACK1

NSK

AG

NGQ

AGX
GX

NP

ADR

AMR

NDM

ARD

NST

AST

ASTH

NLCD

NLCS

365

www. TPCpage.com
www. TPCpneumatics.com



NSK Series

Structural Drawing / Component List

J12~016

2P00ERef

-‘\
Sl ot gt = = ot __ L

Component Narﬁe

No Component Name Material Remark No. Component Name Material Remark
1 ROD COVER Aluminum Alloy 11 | GUIDE PIN GASKET NBR
2 CYLINDER TUBE Aluminum Alloy 12 ROD PACKING NBR
3 PISTON Aluminum Alloy 13 PISTON PACKING NBR
4 PISTON-B Aluminum Alloy 14 GUIDE BUSH Cooper Alloy
5 PISTON ROD High Carbon Chrome 15 SNAP RING Carbon Steel
6 GUIDE PIN Bearing Steel 16 WEAR RING Resin
7 BUMPER-A Urethane 17 SWING PLATE Rolled Steel Material| N(D)SK**-**P.
8 BUMPER-B Urethane 18 6 Hexagonal Hole Bolt  [Chrome Moalybdenum Steel | N(D)SK**-**P
9 MAGNET NBR+Bagerrite 19 FLANGE Rolled Steel Material] N(D)SKG**-**:
10 TUBE GASKET NBR 20 6 Hexagonal Hole Bolt | Chrome Molybdenum Steel | N(D)SKG**-**:

382




LEEEE e M K]

362-368-NSK 2012.9.7 2:58 PM d|°]x]366 3I+ZFLlgat $

Series NSK

Structural Drawing/Component List

@20~232

(D(9EAEI(DG) 6@__@ (?(?

Component Name

366

NO | Component Name Material Remark NO| Component Name Material Remark

@ | Rod Cover Aluminum Alloy @ | Rod Packing NBR

@® | End Plate Aluminum Alloy @ | Piston Packing NBR

@ | Cylinder Tube Aluminum Alloy ® | Guide Bush Cooper Alloy

O | Piston Aluminum Alloy @ | Socket Bolt Carbon Steel

© | Piston Rod High Carbon Chrome Bearing Steel ® | Steel Ball High Carbon Chrome Beaing Steel

® | Guide Pin High Carbon Chrome Bearing Steel ® | Set Screw Chrome Molybdenum Steel

@ | Bumper Urethane ® |Swing Plate Rolled Steel Material | InCaseof NIDJSK# =+ +P
O | Magnet NBR+Bagerrite @ | 6 Hexagonal Hole Bolt | Chrome Molybdenum Steel | In Caseof NDJSK # # -+ +P
© | Tube Gasket NBR ® |Flange Rolled Steel Material |InCase of NDJSKG # # -+ +
@ | Guide Pin Gasket NBR @ | 6 Hexagonal Hole Bolt |  Chrome Molybdenum Steel |InCase of NIDJSKG # + -+ «
d40~263

Component Name

Case Of N(DJSK # + =+ +P
Case Of NDJSK # + =+ +P
fNDISKG* #-+ +

NO|Component Name Material Remark NO|Component Name Material Remark

@ |Rod Cover Aluminum Alloy @ |Rod Packing NBR

@ |End Plate Aluminum Alloy @® |Piston Packing NBR

@ |Cylinder Tube Aluminum Alloy @ |Guide Bush Cooper Alloy

@ |Piston—A Aluminum Alloy ® |Metal Screper Cooper Alloy

@ |Piston Rod High Carbon Chrome Bearing Steel ® |Snap Ring Carbon Steel

@ |Guide Pin Bearing Steel @ |Steel Ball High Carbon Chrome Bearing Steel

@ |Guide Bolt Rolled Steel Material ® [Set Scrrew Chrome Molybdenum Steel

© |Bumper Urethane ® |Swing Plate Rolled Steel Material | InCaseof NDJSK * « =+ P
© |Magnet NBR+Baferrite @ |6 Hexagonal Hole Bolt | Chrome Molybdenum Steel | In Case of N(DJSK # # - * +P
@ |Tube Gasket NBR @ |Flange Rolled Steel Material {InCaseof NDJSKG# -+ +
@ |Guide Pin Gasket NBR @ |6 Hexagonal Hole Bolt | Chrome Molybdenum Steel |In Case of NIDJSKG # ¢ -+ «




NSK Seris

External Shape Dimension Drawing

@12
M3x0.5 DP 6 14.5 2-M5x0.8 5
o —
2 1

Y% PISTON ROD mE| \ma

N\ EH @R e=wmasm R n
N ) | o
8
= o .
Q| & — 2‘2
TR | x —

PISTON ROD §§ Q
e sl Qﬂ Q%
i 2x4-M4x0.7
00535 al 7 g 7 | 4 PREMOT
0155 3 ) 2
m5 "
216
M5x0.8 DP 6.5 16.5 2-M5x0.8 5,
S
PISTON ROD || \mm
PEIFIAR == -

NS
R R S E e ]

020 3 2
029 AA

~
?14
28
|
T
2x4- 26.5

7 1ap 2x4-M4x0.7

4-@3.5

AB

10st. 20st. 10st. 20st.
ag12 68 88 455 55.5
716 68 88 45.5 55.5

384




362-368-NSK 2012.9.7 2:58 PM #|0]21367 =43 $ easEl [

Series NSK

External Shape Dimension Drawing ACP
(Unit :mm)
B20~25 APM
AS
6-WB(9)* SWITCH RAIL
(Rod Side Clogged) For Fixing Guide Pi .
N L. e L
__— 2-M6 WRENCH BOLT
i AM2
= - RE?ITrz:d E\(r)elgl\on Rotation(R) |
I W o [
8 | — —1+4  |Ax
Lt ‘ X \Msxtzsp DP12 35 E A
£ Iisﬁ-r a:n?jols)irecticn Rotation(L) == S P “ \ZXA_MBXW N = z A Q
OM=02 N o AB
ar ?331850P3 AA A82
ADQ2
AJ
AM
AA AB ABK
Type L T M E K F G Q B P
10st. 20st. 10st. 20st.
2320 102.5 112.5 72 82 30.5 36 25.5 47 20 42 14.8 35 55 19.7 ACK1
@25 103.5 1135 73 83 30.5 40 28 52 23 5.7 17 32 5.6 22.5
NSK
AG
NGQ
732
AGX
W4 Switch Attaching Rail GX
(3 Locations)
For Fixing Guide Pin
M10X1.5 DP15 M8 SET SCREW 37 2-Rc(PT) 1/8 5, NP
N\ (AIR PORT) ‘L‘
ADR
PISTON ROD
jght Hand Direction Rotation (R
{1d %, o 0 AR
BiE G| g P e
- — NDM
233%7.0P3 H ] | } l —1 S‘I
(No Reverse Side) 55 T
- ARD
PISTON ROD <7 85 021, 14 N sxo-mexip 9 0.7
Left Hand Direction Rotation(L) =
@2) 10st. = 815 , 20st. = 915 NST
45 10st, = 1235 , 20st. = 1335
AST
ASTH
NLCD
NLCS
367

www. TPCpage.com
www. TPCpneumatics.com




362-368-NSK 2012.9.7 2:58 PM #[0] 21368 =4 el Ak $ ERIEDE

Series NSK
External Shape Dimension Drawing

(Unit :mm)

J40~263

W4 Switch Attaching Rail (3 Locations)

For Fixing Guide Pin

X' SET SCREW Q 2-Re(PT) P 8

" Qi . (AIR PORT)

W8(9)" Switch Rail

(@40~250 : 2 Locations, 263 : 8 Locations)

Piston Rod

Right Hand Directiorgy ——————

Rotation(R) /

[a4
- N Q9
u_g

e
PK58
@
A
W
\
an)
&/

N2 oaa 003 = ]
(Reverse Side is 55 4
Symmetric) Z
u w c g 2X4*0/ c 3
N N S
PISTON ROD L AB
Left Hand Direction
J Rotation(L) AA
AA AB
Type L T M E K F G Q B R J H N
10st. | 20st. | 50st. | 10st. | 20st. | 50st.
@40 | 1245|1345 | - 75 85 - 495 | 52 40 69 30 7 24 30 8 29.6 5 14 9
250 - 152 | 212 - 96.5 | 1265| - 64 50 87 37 8 30 34 | 105 | 365 7 17 1
@263 | - 155 | 215 - 100 | 130 - 7 60 103 | 48 9 35 35 | 105 | 474 7 17 14
Type A C d D z B 0 X U W S
240 7 1 5.3 16 14 1/8 M6X1.0 M8 6.5 | 35 M10x1.5DP:15
@50 8 14 6.6 20 22 1/4 M8X1.25 M8 7.5 4 M12X1.75 DP:16
@63 | 10.5 | 18 85 | 20 22 1/4 M10X1.5 | MI0 | 75 | 45 M12x1.75 DP:16

SWING PLATE
A |
i C |
\ |
I I
S ‘
2D
|25 \
‘5( | ‘ Lo59 T )
T \,‘,,,,,,‘,J H H w
WLk
w w
M
% Surface Treatment @ Nickel Chrome Plated
[tem Number Type A B C @d @D E F G H M w
KP-20 220, @25 51 15 35 | @85 |@135| 32 | 105 8 14 M6Xx1 THRU 10
KP-32 @32, 340 67 20 45 | 2105|2165 52 | 135 9 18 M8X1.25 THRU 14
KP-50 @50, @63 89 22 65 |@125] @19 | b2 | 1565 | 11 22 M10%1.5 THRU 17

368






